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	Question 14 

Show how Jay Tate's language (lines 56-68) emphasises the devastating effects of asteroid impact. In your answer you should refer to such features as sentence structure, verb tense, word choice ... 
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	General Advice

· Analysis type question

· Refer to and comment on at least 2 features


	
	

	Specific Advice

· Go to lines 56-68

Word Choice

· Read the first sentence and highlight any words which “emphasise the devastating effects of asteroid impact.”

· Quote and comment referring to the connotations of the word.

Sentence Structure

· Look at sentence length and identify any techniques

· Short sentences

· Repetition

· Relate these to context and explain why they emphasise “ the devastating effect of asteroid impact.”

Verb Tense

· Identify the verbs and any changes of tense

· Explain how this “emphasises the devastating effects of asteroid impact.”     
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